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SA: BHLYD
dM: GAHEE 25
Cel: BAEA JIBEA CCHR-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
BEAEQEN 22 XN& 40,000 56,200 A 16,200
= 20,000
s 20,000
301 gt d= 40,000 56,200 A 16,200
= 20,000
s 20,000
12 JIEBHE4 = 40,000 56,200 A 16,200
OEHAZQEN CdEE X3 40,000
= 20,000
= 20,000
HASRE 24ItA AHHALE X2 4,200 4,200 0
= 2,100
e 2,100
301 et a = 4,200 4,200 0
= 2,100
i 2,100
09 &AL HI B &S 4,200 4,200 0
OHIMAEE 24a0tA MG A48 FAS 4 4,200
= 2,100
s 2,100
SHZASX HEILA HZ ALY 804,000 804,000 0
= 402,000
[ia 402,000
301 et A3 804,000 804,000 0
= 402,000
s 402,000
12 J|EtE4 = 804,000 804,000 0
OLFZ KA ZIIHIX KA (5000H) 804,000
= 402,000
e 402,000
Helolssrxtg el LPGRE &8 X & 10,000 30,000 A20,000
2 5,000
s 5,000
402 RI2HX=01 M 10,000 30,000 A20,000
= 5,000
s 5,000
02 QI EASEZ (01X ) 10,000 30,000 A20,000
O0glol S&xtzl LPGRE M X2 (20H) 10,000
= 5,000
s 5,000
MEIE HAHE FE8BRUY 23 AEAEY 4,800 4,000 800
< 2,400
i 2,400
402 212t X 20| & 4,800 4,000 800
< 2,400
i 2,400




SN BZAYD
M oHEE B
Cel: BAEA JIBEA CCHR-ED
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
02 U2 EALEZ(0IETHE) 4,800 4,000 800
Orgd=Ede B3 AEA (500) 4,800
< 2,400
[ia 2,400
RNASZEHOIEALE X - 2 (2 24 OFM 744,000 1,000,000 A 256,000
ot M3 =4d)
= 372,000
< 37,200
= 334,800
401 A& HIZ 201 Y| 744,000 1,000,000 A 256,000
= 372,000
& 37,200
T 334,800
01 A& HI 739,312 993,739 N 254,427
O OFdis MEBSE =4 739,312
s 367,312
< 37,200
[ia 334,800
03 Al S HHI 4,688 6,261 21,573
O=sd4t Ofdst dES® =4
744,000,000& *0.63% 4,688
= 4,688
J2HOANER 29 84,972 129,345 A 44 373
101 14l 10,121 9,940 181
04 JI2ZtH 22 EE = 10,121 9,940 181
Ogsz M=&x¢ 10,121
— el 66,800 x5 102! «33] 10,020
—dHEE S 10,020, 000& * 1% 101
201 22| 64,951 103,905 38,954
01 At 2t2l bl 17,546 26,850 29,304
OLEr2dHl 10,880
—4AE2Y 2% 287 (5Z)
200,000& x4 & 800
seled ZAH(13l) 3,500
—CCTV I =2 340,000& 128 4,080
SHEA HIO X2 25,000 501 42 500
— &0 g2 50,000& »2CH x4 & 400
—2gEE =2 800, 000& »23] 1,600
OAESE 22+ gXE 550,000& »9& 4,950
OsdI EIIEA =5 143,000 <123 1,716
02 2324l 47,405 77,055 229,650
O332= € HAl 43,673
— &Jletd Zteldl 789,360& x12& 9,473
—agord bl (18) 300




L = PN =
M osd 25
Cel: BAEA JIBEA CERED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
—AZE dIANEE 2,800,000& =12& 33,600
— eSS AEZ 25,000& =128 300
o9 & dl 1,232
—WHIN 2= 1,5403 x50 *3CH+20 462
— 2SS MELLEHI0 |8
1,5403 +54 =1CH+100L 770
OAl& &Hl RXH] 2,500
— A& 2 I HEH KX 2,500
206 M = Hl 3,000 9,000 A 6,000
01 = bl 3,000 9,000 A 6,000
OAEJ 29 TN ¢ 3,000
307 212t01 & 3,600 0 3,600
06 282 3,600 0 3,600
O2e2M AlD B2 3,600
405 XtabF SHI 3,300 6,500 N 3,200
01 AL 2B F SHI 3,300 6,500 N 3,200
HED AU 1,000
O2AMASII (1) 2,000
oAzZd He22(1U) 300
S22 &8E=H MEHoIE A& 22 141,061 70,564 70,497
101 @121l 5,061 4,564 497
04 J|I2ZtH2ZXNEE S 5,061 4,564 497
OMEISX ZHII1(3Ha) 5,061
ks 66,800& x5H x 15 5,010
—AMTHEEZ 5,010,000& *1% 51
201 Bt A H| 36,000 36,000 0
02 352494l 36,000 36,000 0
OdIIe=2 30,000
O&J|otM2e| == 4,500
OSN3 1,500
401 Al HI L 2T 100,000 30,000 70,000
01 A& HI 100,000 30,000 70,000
OMEfSIE S Al22 30,000
OAE BLIHY 24 70,000
oleeEsdy 29 - 22| 18,000 0 18,000
T 9,000
= 9,000
201 Bt A | 18,000 0 18,000
T 9,000
= 9,000




AN S34F 0
dM: GAHEE 25
CHol: BASA JIBEA (ctel:&2)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
01 At 22l 18,000 0 18,000
OMIILE=EFL A2 & A2F 7Y 18,000
= 9,000
[ia 9,000
OlMSX OtA3 ESAMY 19,373 0 19,373
< 5,812
[ia 13,561
201 Let24E] 19,373 0 19,373
< 5,812
e 13,561
01 At 22l 19,373 0 19,373
ODIMSX OtAZ ES(HE0IE, ol MEA|
) 19,373
< 5,812
s 13,561
tHoled 0NN 58 &X 20,000 0 20,000
401 Al Bl 2B 20,000 0 20,000
01 A& HI 20,000 0 20,000
OUJI2Y DIMYX dsS AXI(20HA) 20,000
LPGSt 2 Xt &I Xt PRI 8,000 0 8,000
< 4,000
s 4,000
402 RI2HXt20l M 8,000 0 8,000
< 4,000
[ia 4,000
02 2IZt 2 AL EZ (OIS ) 8,000 0 8,000
OLpGat2xt &I X #+& XI&  4,000,000& =2CH 8,000
= 4,000
s 4,000
ots=E B3 125,397 112,070 13,327
= 20,050
< 23,660
s 81,687
es=E B3 6,188 29,388 A 23,200
201 £B-2dH| 1,888 1,888 0
01 At 22l 1,888 1,888 0
O=gHsS HME(&7, Ha) 20,0003 *30H 600
OZdg, ¥ gX 222 MN=E
2503 *4,000% 1,000
OZANXY RollOlds=E FHES =8 S4
8,000& x2H » 182! 288
202 oddl 1,200 1,200 0
01 = LH o4 1l 1,200 1,200 0




2N
X ZH -
L= B

el

#2042l )
TolsE 25
OHMES &5

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OEAMXNY FoioldsE 2HMEsS =
60,000 x2H 10 1,200
206 M= Hl 1,300 1,300 0
01 M= 4l 1,300 1,300 0
OOfMESE HOIFI| &AL HE (D702 38) 1,300
301 et a = 1,800 0 1,800
09 &AL HI B &S 1,800 0 1,800
ORdIdEsS=E JISs7HYE Z&&s N2 1,800
— Rl ZEE XTI 50,000& 30 1,500
—Folxr ZEE 2K 10,000& 30 300
HM=Es=2 253 242 24,289 28,916 A4 627
< 7,214
[ia 17,075
101 @14l 24,289 28,916 A4 ,627
< 7,214
[ia 17,075
04 JI2ZtHZ22HEE =+ 24,289 28,916 AN4,627
OtdssE 253 29 24,289
— Iyl 66,800 x4 902! 24,048
7,214
[ia 16,834
— 40 EE 24,048,000 *1% 241
OrisS= IoHOlE A 40,100 27,336 12,764
= 20,050
[ia 20,050
402 QI2H X201 M 40,100 27,336 12,764
= 20,050
s 20,050
02 QI E2AS EZ (OIS ) 40,100 27,336 12,764
OOt sSE ToloEAId &X K& 40,100
= 20,050
[ia 20,050
FoOtMEsE E2l X2 44,820 26,430 18,390
< 13,446
s 31,374
301 et a s 37,890 19,500 18,390
< 11,367
e 26,523
12 JIEEd = 37,890 19,500 18,390
ORoflorMESS (X, Detll) X8 243
A& 37,890
= 11,367
e 26,523
307 glz2tol & 6,930 6,930 0




S BHAS D
HHM: JoHEsHd B
Sel OIMES 25 (S &2)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
= 2,079
= 4,851
06 282 6,930 6,930 0
OfRdotMEss 22 B2 X2 (309) 6,930
o= 2,079
= 4,851
OIMEZ &2 LolEA 10,000 0 10,000
= 3,000
= 7,000
301 et A= 10,000 0 10,000
& 3,000
= 7,000
12 J|EtE2 A= 10,000 0 10,000
O0MsSE s&=2 Hoi24 10,000
& 3,000
= 7,000
SIHAQHAEE HiIsSANEE 2L SENEEH 523,190 230,870 292,320
=2 247,750
= 49,550
= 225,890
sFoEM ot 22,710 85,250 A 62,540
201 gBt2A | 10,650 17,350 N6,700
01 AP 22| H| 7,700 14,700 AT7,000
Ogbt4=24| 7,700
—SHE2HAD BHEH(ERE S) 2
100,000 » 108 A 1,000
— L8 JIE90| IHM(YeHA) 22
400,000 34 1,200
—EYAQY S ABEM 442
400,000 *3H £ 1,200
— FEEOIN, HHEAMYEH NEEEBHE &
50,000& *12= 600
—HSGEFEAL GHUHE M MEH
150 *4 666 Al CH 700
—HEIA SEFH AN 242
200,000 «5CH 1,000
— AN SHEY =& (10) 1,000
—SFEMLY W WM M 1,000
02 2=2=24%4| 2,950 2,650 300
ORHQ2 (X HAQWM HA)
330)! x4 999 1,650
OHIEANE B3 HESEPC S8 =
25,000 x12& 300
ONIINsA 282 2 22/H (1) 1,000
202 04| 1,560 2,400 A 840
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SA: BHLYD
M HEAH BS
Ce: MEHII=S 2F2e (2 &HH)
5 - 4
SA BB (SH) - NRAY - B Ol &F o4 ﬁ}lgﬁ HRE2
— SN 2 7,200
R EFY 850,000 *3JH 23| 5,100
K EFd 350, 000& 34 x23] 2,100
—AsSHHgEEs 325D 3288 2 A
DE WA 2,300,000 *1CH x4 3] 9,200
— =24 BAHHE B 2,000,000& *43| 8,000
—AAANE SAS ZIMUG 22
1,500, 000& 43| 6,000
—SAs 2 ESHA NEXE B 6,000
-2 JIEsSX, ®H 2 1,100
JIEEX 5,000 =100 500
JIS X Hl 50,000& «12& 600
—HIETH OISO AHOlA 2 5,000
—AAANE AS2UR S22 25 7,000
203 € R F=&d| 1,500 1,500 0
03 Al ZH =X A 2= XIH| 1,500 1,500 0
Ostzdae|dyH g2 =8 S 1,500
206 M Hl 153,558 153,018 540
01 XHZ Hl 153,558 153,018 540
OEANE 298 2 ¢
2,400,000& x12& 28,800
OL2ZANAE &2 L 29 A= 4|
4,000,000& *43] 16,000
O&E4L XelE 29 $E(33) 5,000
OALZANYE 29 AUZH|(MAAAMGQ 6F)
6,000,000& x12& 72,000
oY = H| 40,0003 x15=+x12& 7,200
o A=l 1,658
— g 1,540& *2004 308
-4d 8 1,350& *1,000¢ 1,350
O AE 2FHIH 2ZEH
4,000& *x4kg 300 4,800
OHIATH(KIZEHIIS) 222D 22 (0.558)
8,000& x4 & x300 9,600
O&sEs22UY &2+ M2Ss e 2 8,500
—HIY(XE) 550,000 = 107K 5,500
—BAZ(HLESR) 30,000& 1002 3,000
301 et A= 60,840 60, 840 0
12 JIEtE A2 60,840 60, 840 0
OstB 2eldy &&H 2HAl
65,000 »3Y 26 x12& 60,840
401 AlEHI L £ 0HY| 40,000 0 40,000
01 Al&H| 40,000 0 40,000




AN S34F 0
dM: GAHEE 25
thel: MEHIIZS HE a2 (SH9: &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OLZAE 222 WHEtE E3AM 40,000
It =01 A 32,000 32,
QI 2AIHSE R (KM &) 32,000 32,
O84alE XdiJl Z&EHeldl X XN&
4,000, 0003 *10CH *80% 32,000
AHebE S H| 3,600 A211,
AR E S H S 3,600 A211,
OA2AIE Zels WHEAIE DH(20) 3,600
o ol = 841,778 128,
jellala] 191,600 44,
JIZtH22HsSE+ 191,600 44,
otz 191,600
-y 66,8003 x7H x350 163,660
— ek = 66,8003 x7H «152 «150% 10,521
—40f B8R 174,181,000& *10% 17,419
2 Et2 HH| 265,710 AT,
AtS 2tel i 27,430 A8,
Ogpt4gH| 21,200
—2¥S) HII2 Y Helas2
200,000 »25& 5,000
—MEMY D 2el=HU 200,000& =154 3,000
—HE&ds =1 200,000 =154 3,000
— &85 =g 22E 0t & &2
g 7Y 500& *6,000& 3,000
— LS MBEMYD £ EHE
150,000 *123] ¥4} A 7,200
O3zl 1,280
—BYSI| MYl 40 L os =T
8,000& »4H x30 960
—CHXY MEBMYI L HEBE £HEX
8,000& »1H »40 320
Oogxz 4,950
—=85J HII= =H =47 X
550,000 3 1,650
—MEMYII2EE MEHY FH X
550,000 3 1,650
—ANEEZ HEE AtZ=2e ZHl Xt
550,000 3 1,650
02 232gHl 238,280 1,000
03323 S(EAX13, SAE2, HES2) 17,280
— X ZIZA =2 40,0003 =17CH 680
- B8g= 800,000& = 17CH 13,600
—HAXY AR SEHE 1,000,000 *3CH 3,000

_11_




VIR
X Kol

el MEBHIIE REL CEEEED
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
OXtg Azl 221,000
— AKX 13,000,000 = 13CH 169,000
— SAZ2 = HIE 13,000,000 *2CH 26,000
—MHEsES = HISH 13,000, 000& *2CH 26,000
202 04| 1,800 1,200 600
01 2L Y] 1,800 1,200 600
O8Alg & MEaMydldel #x o
60,000& 2«15 1,800
206 M = Hl 97,668 92,084 5,584
01 X Z Hl 97,668 92,084 5,584
OMAINE SE M 87,673
— Bt g 46,920
- 5¢ 31&*70,0000H 2,170
104 38& x150,0000H 5,700
204 57-& 250, 0000H 14,250
504 124 & %200, 000 0H 24,800
-3 7,853
204 57& 29, 0000H 1,653
504 1243 *50,0000H 6,200
— MAIS 32,900
- 104 41& %30, 0000H 1,230
204 58& *500, 000 0H 29,000
304 89& x30,0000H 2,670
O3aEgMY =HEI| 2 40,000& 2004 8,000
OSsAlZ2MY )| 2eltis U48& MZ
573 %35,000H4 1,995
405 Ko SHI 285,000 200,000 85,000
01 A&t = S F SHI 285,000 200,000 85,000
OFAXE P2 285,000
—HAXNEY =X 5E(IHES)
95,000,000 *2CH 190,000
— & AKX N 5E(H2T) 95,000
HR& 2EDSD 112,405 227,353 AN 114,948
101 e1214| 14,157 12,145 2,012
04 J|2tHI 2 2 At 14,157 12,145 2,012
O#HANE HAX FQ M, AALSI S M, 2012l Y
AN S) 66,800& x10H x12 8,016
OMEM2 D] , Sty U2 EH
J| 120,000 x5 10! 6,000
OMMEE = 14,016,000& * 1% 141
201 Yer2 2t 41,648 46,608 14,960
01 At 22l bl 37,448 34,728 2,720




SN BZAE
of &t

FSES DN =3
Chel: MEHIIES HE e (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O e8| 36,248
—ElEZ2S FAEE 7Y 2,000
—StEY 2283 Y (A, FELAESS)
20,0003 #2000 2128 4,800
—MgJ] 2ol tHE E22 Mx
200& x20,0000H 4,000
—ANEEZ2ME X AAZ2E AL =2 7,728
Riots 2ME 2BAN 242
138,000& * 14K 2 %43 7,728
— Mg EYED &5 308 M
100,000& *50 4 5,000
— Mg EHEI A =2 M
30,0002 504 1,500
— MY Ol SYHEI] ZAIIHHI2H(CCTY) BlE =
= 42,5003 x22CH x 128 11,220
O#A F2XE X =2H  8,0002+10H 15 1,200
02 =224l 4,200 11,880 AT,680
OSYEIl ZAIIt0H(CCTY) | X 2eldl 1,200
—dIIRa 100,000& =128 1,200
SSEY |X E= 3,000
202 O4dl 1,200 1,200 0
01 = LH 4 1l 1,200 1,200 0
OMEBEZAS 938 B4 S
60,0003 x2H 10 1,200
206 M= Hl 14,000 14,000 0
01 MHZ 4l 14,000 14,000 0
Ogusiz HEZ 58 2Y
350& *10,000=*43| 14,000
301 gEtE L= 35,400 33,400 2,000
09 SAAHIEA S 3,400 3,400 0
OMXE HAPYUESI| SSHO NHASAX 24 3,400
-5 Y 200,000& 13«11 & - & 2,200
-z &F 300,000& *43| 1,200
12 JE24 3 32,000 30,000 2,000
O2sHII2 =% ZAS(HUYE, sYblEs,
HsstsSX) 30,000
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OdMEE = 44,088,000 * 1% 441
201 Bt A H| 44,683 40,545 4,138
01 AR 22l ] 11,240 8,690 2,550
Ogbt=2H| 5,000
—AEXRY Y 5,000 *3000H 1,500
—MEXN SH29 HE 60,000& *200H 1,200
—AMEREE sA& 2 2,300
SA(10mE) 100,000& =104 1,000
SA(13mE) 130,000& * 1094 1,300
Ot BIA22X S8l
8,000 »6H x30L 1,440
Odt28 35 2 AF 2HAH|
4,000& *300H 43| 4,800
02 3524l 33,443 31,855 1,588
o332 ¢ 3,350
—XEEE= 3,350
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NESE 550,000& = 1CH 550
(OPNE=i] 28,156
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— =83 = 4,500,000& = 1CH 4,500
—HESESE 4,432,000& =1CH 4,432
—A28ESE 3,224,000& «1CH 3,224
O/LZ2Z AI2HMHI 2 !X 22l Hl 1,937
- &3 12,000& 3 A x12& 432
—QolHY 2= 41,8003 *3M A x12& 1,505
308 AXISHXMSO0IHA 97,112 99,375 N2,263
07 HXSHN2AEESZ 97,112 99,375 N2,263
ONMEXNGEHH|IAHANR Al EE2 3,172
Oda=0er & Agted NN == 93,940
SMSHA 25 & 29 32,369 33,019 A 650
= 12,948
& 5,836
= 13,585
201 Bt A H| 23,409 24,059 A 650
= 9,364
o= 4,223
= 9,822
01 At 22l ] 16,909 16,389 520
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s 1,194
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= 2,600
= 1,170
s 2,730
202 4l 2,760 2,760 0
= 1,104
< 497
[ia 1,159
01 =L 4 1l 2,760 2,760 0
O&r2x st & SHI(1383) 2,760
= 1,104
< 497
= 1,159
405 XHoHF S HI 6,200 6,200 0
= 2,480
< 1,116
s 2,604
01 et EZFH S 6,200 6,200 0
SUHE 2AI| UM (40H) 3,200
= 1,280
< 576
[ia 1,344
ORE= SA(HSI)AE(1H) 3,000
= 1,200
= 540
fia 1,260
MEUEHAH =5 L 29E 10,000 30,000 A20,000
= 4,000
< 1,800
s 4,200
401 Al HI K 201 I 10,000 18,300 A 8,300
= 4,000
< 1,800
fia 4,200
01 A& Bl 10,000 18,300 8,300
ORolZtAldttlet RXIE 4 (501) 10,000
= 4,000
< 1,800
[ia 4,200
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= 1,306
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& 14,220
= 29,316
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= 733
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&< 3,470
= 8,097
101 Q124 H] 21,867 20,462 1,405
= 10,934
= 3,280
= 7,653
04 JI2ZtHIZ22NEE S 21,867 20,462 1,405
OMeHEllE RS (1Y) 21,867
= 10,934
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MY Y ES
A BS g (SH9: &)
= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
e 228,000
s 228,000
01 A& HI 452,716 1,191,709 738,993
Ot A4 452,716
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[ia 228,000
03 AIE 24 3,284 4,291 A 1,007
Ot 456,000,000& *0.72% 3,284
as 3,284
2 x4 2e(sS 108,000 132,000 A 24,000
2 54,000
s 54,000
401 AIEHIZ 108,000 132,000 A 24,000
s 54,000
s 54,000
01 A& HI 107,222 131,056 N 23,834
OMeA 107,222
2 53,002
i 54,000
03 Al = TH 778 944 A 166
OMeA 108,000, 000& *0.72% 778
as 778
AL &2 60,000 60,000 0
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HAMSHAY (P A2 ) 208,514 189,724 18,790
ol 2 A | 124,824 105,462 19,362
oI | 124,824 105,462 19,362
101 Q121 H| 124,824 105, 462 19,362
01 2 120,045 101,147 18,898
OANZUHAZ RS HH=2(229) 26,421
— 63 11,4013 *6H «10A| 2t*x12& 8,209
—-72 10,299& 7 x10A| 2t~ 128 8,652
— 82 9,246 *5H «10A| 2tx12& 5,548
- 92 8,357 & *4H x10A| 2tx12& 4,012
o=z 9,826& x22H x32A| 2t x 128 83,011
ONEHIAZE Z2RLE
9,826 & x6Y x4 A| 2F %45 10,613
02 JIEtE 2 2% 4,779 4,315 464
OF/AHZ (1580 a ~ 23E0I8H) 4,779
— ARSI TRAG(FUR)
9,4813 x1H «10A| 2tx 128 1,138
—x2U2R 9,481& 1 x32A| 2t x 128 3,641
Jl=2&tl 83,690 84,262 NBT72
Jl2 &34l 83,690 84,262 NBT72
201 LBt Y| 46,468 37,340 9,128
01 AP 22| d| 45,772 36,676 9,096
Ogbt4==2H| =M H A 22,862
OS2 H SHHA 22,430
O&ZD|, HO4 &xz2 40,000 x12& 480
02 222%4| 696 664 32
OAMBA LBt HA2H|I(E])
870 %20 *4A| 2Hx100 696
202 044 31,762 31,762 0
01 2L Y| 31,762 31,762 0
O=2Wod (L) 19,882
O=2UWod (&2) 11,880
203 € R F=&d| 5,460 5,160 300
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(400,000 * 128 )+(5,000& x11H x12&) 5,460
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